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G.GMD.A.1: Area of Circles

1 If the circumference of a circle is 10z inches, what
is the area, in square inches, of the circle?

1) 10z
2) 25z
3) 507z
4) 1007z

2 The circumference of a circle measures 22 units.
Find the number of square units in the area of the
circle. Express your answer in terms of 7.

3 A dog is tied with a rope to a stake in the ground.
The length of the rope is 5 yards. What is the area,
in square yards, in which the dog can roam?

1) 25«
2) 107z
3) 25
4) 20

4 A circular garden has a diameter of 12 feet. How
many bags of topsoil must Linda buy to cover the
garden if one bag covers an area of 3 square feet?

) 13
2) 38
3) 40
4y 151

5 The circumference of a circular plot of land is
increased by 10%. What is the best estimate of the
total percentage that the area of the plot increased?

) 10%
2) 21%
3) 25%
4 31%

6 If an arc of 60° on circle A has the same length as
an arc of 45° on circle B, what is the ratio of the
area of circle B to the area of circle A?
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